Consider the curve 7 (t) =< 2sin2¢, 3¢, 2cos2t >. SCORE:

[a] Find the umt tangent vector T (¢ )
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[b] Find parametric equations for the tangent line to the curve at the pmnt (\/3 7T, - 1)
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[d] Flnd the curvature.
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Name the surface for each equation below. Sketch the general shape and orientation of three (3) of the surfaces.  SCORE: ____/25PTS
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Find a vector function for the curve of intersection of the surfaces z = 1. [x*+y* and z=1+y. ' SCORE: ___ /20 PTS
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Find the curvature;)f the curve (1) =-If +£27 + £k atthe point (1, L1). '
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Find the curvature of y = x* at the point 1,D. | S CORE: ___J IS.PT_S
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SCORE: ___ /20PTS

£ () = F(£) - [7'(6) x F"(2)], prove that (2} = F(2) - [F(O)x 7" ()],

NOTE: You must give a general proof ~ you cannot assume that 7 () is any particular function
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